Inheritance revision

Define the following terms:

1. Intermediate inheritance:

intermediate inheritance occurs when one allele for a specific trait is not completely expressed over its paired allele. This results in a third phenotype in which the expressed physical trait is a combination of the phenotypes of both alleles.
2. Dominant/recessive inheritance:

When a trait is dominant, only one allele is required for the trait to be observed. A dominant allele will mask a recessive allele, if present. A dominant allele is denoted by a capital letter (A versus a). Since each parent provides one allele, the possible combinations are: AA, Aa, and aa.
3. Phenotype:

the set of observable characteristics of an individual resulting from the interaction of its genotype with the environment.
4. Genotype:

the genetic constitution of an individual organism.
5. Allele:

An allele is a variant form of a gene. Some genes have a variety of different forms, which are located at the same position, or genetic locus, on a chromosome. Humans are called diploid organisms because they have two alleles at each genetic locus, with one allele inherited from each parent.
6. Homozygous

Refers to a gene that has identical alleles on both homologous chromosomes. It is referred to by two capital letters (XX) for a dominant trait, and two lowercase letters (xx) for a recessive trait.
7. Heterozygous
A diploid organism is heterozygous at a gene locus when its cells contain two different alleles of a gene. 
1. If brown fur is dominant to white, 

The genotype of a brown fox could be 

BB or Bb
The genotype of the offspring from 2 brown foxes could be :

Parents pure breeding 


all BB 
One parent hybrid         


BB or Bb
Both parents hybrid     


BB or Bb or bb
The offspring has flower colour different to both parents, and the parents have different flower colour to each other. Choose appropriate labels and:

List all possible genotypes and associated phenotypes for parents and all offspring.

Assume red, white and pink. Assume incomplete dominance.

Parents: RR (red) and WW (white) 
F1 offspring all RW (pink)

Now list all possible genotypes and phenotypes for the F2 generation

By inspection RR (red), RW (pink) and WW (white)
By punnet square
	
	R
	W

	 R
	RR
	RW

	 W
	RW
	WW


2. Draw punnets for all the possible combinations between homozygous red, heterozygous yellow and homozygous orange flowered plants. Use R for red and  O for orange. (Assume yellow is blended RO)
Red x yellow

	
	R
	R

	 R
	RR
	RR

	 O
	RO
	RO





50% red (RR), 50% yellow (RO)

Red x orange

	
	R
	R

	 O
	RO
	RO

	 O
	RO
	RO





100% yellow (RO)

Orange x yellow

	
	O
	O

	 R
	RO
	RO

	 O
	OO
	OO





50% yellow (RO) 50% orange (OO)

